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Growing a Future Tree Canopy

ReForest London
Proposed Tree Protection Bylaw, City of London August 22, 2016

Size Distribution (dbh) of London Trees
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Does not add to 100% due to rounding
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Size of Tree Protected (cm @dbh)
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Expanding protections to trees 50 cm dbh would still only
protect < 6% of all trees in neighbourhoods.

Expanding protections to trees 25 cm dbh would still only
protect < 16% of all trees in neighbourhoods.
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Let’s at least protect 6 % of our neighbourhood trees
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More reasons to be more protective

50% of all London trees are in natural areas, therefore that top 3% of
trees is reduced to 1.5% that would be covered by permit protections

By the same math, protecting trees of 50 cm or more, would offer
permit protection really to just 3% of trees in your neighbourhood (6% *
0.5) J o 1
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